Econ 1102: Practice Problem 8 Solution                                                                                            ©Gina Pieters 


Practice Problem 8
1. Belgium has comp. adv. in chocolate, Germany has comp. adv. in beer.

2. 1 chocolate = 0.8 beer

3. 1 chocolate = 2 beer

4. Germany produces 30 beer, consumes 21 => Exports 9 beer, receives 6 chocolate (1/1.5 for each beer) . Belgium produces 15 chocolate, exports 6 chocolate, therefore consumes 9 chocolate. Belgium produces no beer, receives 9 beer, therefore consumes 9 beer. 
5. CS: 0.5 * (14 – 10) * 10 = 20

PS: 0.5 * (10 – 6) * 10 = 20

6. CS: 0.5 * (14 – 12) * 5 = 5
PS: 0.5 * (12 – 6) * 15 = 45

TS: (45 + 5) – (20 + 20) = +10

Import: 0
Export: 10

7. What is the new equilibrium price?  $9
New quantity produced: 7.5; New Quantity consumed: 12.5; New imports:  12.5 – 7.5 = 5

New consumer surplus:  0.5 * (14 – 9) * 12.5 = 31.25; New producer surplus: 0.5 * (9 – 8) * 7.5 = 3.75

New total surplus:  31.25 + 3.75 = 35
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